9/20/21, 6:21 PM ClassMarker - Manage Test

ClassMarkerv/

Tests Edit Test D @J é))

Tests Groups Links

7 Primary 5 Maths (Term 1) - St Nicholas ~

Add Questions Assign Settings Review

&) Assign Test

‘ € Duplicate

‘ & Print ‘ ‘ @ Delete

Test Introduction

+ Add Introduction

55 Questions (92 Points) Question Bank: 9,275 Questions @
Test Questions 0 Test Assignments
Question 1 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

Choose the correct answer for each question.

The value of the digit 5 in 85 762 is

A) 5
B) 50
C) 500
v D) 5000
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,025
Question 2 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
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Gita rmeasured her height using a laps measure, a2 shown below.
WWhet weas her hesghf?

A) 1.73m
v B) 1.76m
C) 1.82m
D) 1.84m
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,015
Question 3 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit 2/34


https://www.classmarker.com/a/tests/qb/manage/?test_id=1791869&question_id=28605015
https://www.classmarker.com/a/tests/qb/manage/?test_id=1791869&question_id=28605015&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1791869

9/20/21, 6:21 PM ClassMarker - Manage Test

The bar graph shows the diierent flavours of ice-cresm chasan Ly 240 pups.
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Which ice-cream flavour was the lamst populs
A) Lemon
B) Mango
v C) Strawberry
D) Vanilla
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,017
Question 4 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
8 of the pupils chose_ ice-cream.

A) chocolate
B) Lemon
v' C) mango

D) strawberry

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 3rd Aug 2021
Last Modified: N/A

QID#: 28,605,018
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Question 5 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

i
% of the people in the Eary were children, %ﬂfﬂ'lﬂn wore men and the

- rest were women. There were 12 women. How many people wera them
;  akopether?

vV A 32
B) 44
C) 48
D) 52
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,019
Question 6 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

3 Chickens weigh as much as 2 ducks. 6 chickens and 5 ducks weight 18.9kg. What is the mass of a

duck?
v A) 2.1kg
B) 2.6kg
C) 2.7kg
D) 2.9kg
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,020
Question 7 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
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The figure below is made up of 2 identical squares, Find £x.

24
A) 12°
B) 33°
v C) 66°
D) 76°
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,021
Question 8 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

The figure below shows 2 different fruits, a pineapple and a bunch of bananas.
Firned Ehe H:I.E!I mgas of the hwo s,

A) 5150kg
B) 5230kg
v C) 5350kg

D) 5500kg
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 9

A) $73
B) $67
C) $59
v' D) $37

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

Multiple Choice
No

Tue 3rd Aug 2021
N/A

28,605,022

Multiple Choice
No

Tue 3rd Aug 2021
N/A

28,605,023

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 1)

Ruiqi, Gigi and Krystal bought a gift for their mother. Ruiqgi paid 3 times as much money as Gigi. Ruiqi
pass $35 more than Krystal. Ruigi and Gigi paid $96 altogether. How much did Krystal pay?

Primary 5 Maths » Primary 5 Maths (Term 1)

Which one of the following letters has paralied lines?

v A F
B)
C)

- 2 O

D)

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Multiple Choice
No

Tue 3rd Aug 2021
N/A

28,605,024
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Question 11 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

4 213 509 when rounded to the nearest thousand is

A) 4214509

v B) 4214000

C) 4210509
D) 4210000
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,026
Question 12 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
0= = sevenths
T

What is the missing number?

A) 18
B) 23
C) 63
v D) 65
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,027
Question 13 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

Arrange the following fractions from the largest to the smallest.

il
g [4]
Ll
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Question Type: Multiple Choice
Randomize Answers: No

Question 14

20

A) 3.92
B) 3.9
v ' C) 345

D) 3.045

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,030

Question 15

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,029

Express 3“9— as a decimal.

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 1)

Primary 5 Maths » Primary 5 Maths (Term 1)
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T'he figlre below shows the position of a cone on a foatball field. Which comer
of the fiald is northewest of the cone?

A B H
8] =
vV A) A
B) B
C) C
D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,031
Question 16 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

A shop sold 40 similar light bulbs for $640. What was the price of each light bulb?

A) $160
B) $140
v C) $16
D) $14
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,032
Question 17 Primary 5 Maths » Primary 5 Maths (Term 1) 0 pts
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Tha bar graph below shows. how Cayden spant his allowance.

200

150

Money
spent 4o
(5}

Bocks Clobws  Food  Toys

The bar for the amount of money spent on clothes has not been drawn.
Draw and shade the bar fo show the amount of money spent on clothas wsng
e chues given below

Cioa 1 2. af his maonay is spent on food

Chee 25 | of his money is spent on clothes.

Please type "done" top proceed to the next question

Question Type: Essay

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,035

Correctly answered feedback

200 —

10

woney
spent qap

Incorrectly answered feedback
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Question 18 Primary 5 Maths » Primary 5 Maths (Term 1) 0 pts

Complets the symmetric figure with ine AB as the line of symmelsy. [2]

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,036

Correctly answered feedback
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Incorrectly answered feedback

Question 19 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

Erasers were sold in packs of 5. Each pack of erasers was sold at $4. Leon paid $40 for the erasers.
How many erasers did he buy?

Accepted answers:

v 50

Question Type: Free Text

Date Added: Tue 3rd Aug 2021

Last Modified: N/A

QID#: 28,605,037
Question 20 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
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The line graph below shows the number of books leaned out by a school librasy
mﬁmu;eﬂuﬁmy#huamﬁnmm

Accepted answers:

v 32

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,038

Correctly answered feedback
40-20=20

Incorrectly answered feedback
40-20=20

Question 21

Accepted answers:

v 48

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,040

Correctly answered feedback

a)  How many books were lnanad oul on Waednesaday?

b) How many more books were loaned out on Monday than on Thursday?

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit
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Question 22 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

ST 1
_ : ba g —m bosew a
ulle boughi 2 m of ciolh, She used 11_1m fo sew a bag an 3

illerw e@se, How muech cloih had she 12/

Accepted answers:
v 11/10m
v 1110m
v 11/10m

v 11/10m

Question Type: Free Text

Date Added: Tue 3rd Aug 2021

Last Modified: N/A

QID#: 28,605,039
Qu estion 23 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

Nisha read 3 books in 4 hours. She spent the same amount of time to read the first 2 books. She took
12 minutes longer to read the third book than the first book. How many minutes did she take to read the
first book?
Accepted answers:

v 76

v 76 min

v’ 76 Minutes

Question Type: Free Text

Date Added: Tue 3rd Aug 2021

Last Modified: N/A

QID#: 28,605,041
Question 24 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
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The bar graph bebow shows the number of shirts sold for each stze by a shop
in & week,

Miaiii s o
shirts  ©0

Small Medium |arge X Large
Shirt sizes

The table below shows the prices of tha shirts.

[ Size of shirt Price per shirt
I Srmall 12
[ Madum 513

i Large . 514
T Xlame 515

g} What fraction of the shirts sold were medium-sized? Give your answer in
the simplasi-fomm, )

Accepted answers:
17/50
17/ 50

17 /50

< < < X

17 /50

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A

QID#: 28,605,043

Correctly answered feedback

Total no. of shirt = 30 + 85 + 60 + 75 = 250

85 17
250 _ 50

Incorrectly answered feedback

Total no. of shirt = 30 + 85 + 60 + 75 = 250

85 17
250 ~ 50
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Question 25 Primary 5 Maths » Primary 5 Maths (Term 1)

From the sales of which size of shirt did the shop collect the most amount of money?

A) small
B) medium
C) large
v D) x-large
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,016
Question 26 Primary 5 Maths » Primary 5 Maths (Term 1)

2
Hexin baked some pineapple tarls. Sha gave = of them to her grandfather and

22 pineapple tarts to her mother. She had 18 pineapple tarts lefl. Mow many
pineapple tarts did she bake al-lirsts

Accepted answers:

v 56

Question Type: Free Text

Date Added: Tue 3rd Aug 2021

Last Modified: N/A

QID#: 28,605,044
Question 27 Primary 5 Maths » Primary 5 Maths (Term 1)

Denise wants to buy some pens and rulers. 5 pens ard a ruler cost $8.35,

A nider costa $0.65 less than a pen.
a) Heow much does a pen cost?

Accepted answers:

$1.50

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit
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v

v 15

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,045

Correctly answered feedback

0.65 x5=3.25
8.35-3.25=5.1
5.1+6=085
0.85+0.65 =15

Incorrectly answered feedback

0.65 = 5=3.25
8.35-3.25=5.1
5.1+6=085
0.85+0.65 =15

Question 28 Primary 5 Maths » Primary 5 Maths (Term 1)

b) Denise wants to buy 8 pens and 2 rulers but she has only $10. How much more money does she
need?

Accepted answers:
v $3.70

v 37

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,046

Correctly answered feedback

10-8.35=1.65
3x1.5=4.5
4.5+0.85=5.35
5.35-1.65=3.70

Incorrectly answered feedback

10-8.35=1.65
3x1.5=4.5
4.5+0.85=5.35
5.35-1.65=3.70
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Question 29

2 classes.

Accepted answers:

v 252

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,047

Correctly answered feedback
17+ 146+ 17 = 180
180 +5=136
36 x 7 =152

Incorrectly answered feedback
17+ 146 +17 = 180
180 +5=36
36x7=1252

Question 30

and Parcel Cis & kg. Find the total mass of the 3 parvels.

Accepted answers:

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit

Primary 5 Maths » Primary 5 Maths (Term 1)

For an enrichment program, pupils were alowed to atiend efther the Sewing
Class or the Potery Class. The number of pupils whoe aftendad the Sewing
Class was 148 more than the numbser of pupis who atiended the Pottery Chass,
17 pupis from the Poftery Class decided to attend the Sewing Class. The
nurmber of pupils who atlended the Sewing Class was B fimes the number of
pupsls who atfended the Poltery Class. Find the fotai mlrimrlul pupils in the

Primary 5 Maths » Primary 5 Maths (Term 1)

Ravi collected 3 parcels, A, B and . Parcel A ks fhe heaviest and Parcel B is the
3
fighiest. The mass of Parcel B is ﬁmﬂndﬂhmlnu-emhuhumn

PEmIAwPﬂcEEE%Hg.Tmﬁﬂamhﬂtnw&shemaenFamurﬂ

2 pts

2 pts
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v’ 117/40

v’ 117/ 40
v’ 117 /140
v 117140

v 117140

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,048

Correctly answered feedback
3+1 25
8 4 40
25 8 _ 17

m——— e mreom

40 40 40

25 o 15 - 40
40 ]?-m 1'?40
1+E=14—

Incorrectly answered feedback
3 i 1 25
8 4 40
25 8 _ 17

m——— e mreom

40 40 40
25 15 40

ﬁtﬁ;ﬁ
1+E= 14—

Question 31 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

Lauis and Joshiea foddad some paper roses. At first, Louis folded 20 more paper
roses than Joshua, After a bweak, Lois folded another 25 paper roses and
Joshia folded another 16, In the end, Louis folded twice 85 many paper roses

as Joshua, How many paper roses did Louis fold altogether?

Accepted answers:

v 60

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit 19/34
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Question Type: Free Text

Date Added: Tue 3rd Aug 2021

Last Modified: N/A

QID#: 28,605,049
Question 32 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

Find the value of 64 = 2 x 10 + (24 = 3),

Accepted answers:

v 328

Question Type: Free Text

Date Added: Tue 3rd Aug 2021

Last Modified: N/A

QID#: 28,605,050
Question 33 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

: 2 1
Find the nmenf —and .
Fi 2
Accepted answers:
v’ Nov-14
Question Type: Free Text
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,051
Question 34 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
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v’ $20.30

v 203

Question Type:
Date Added:
Last Modified:
QID#:

v 0.18

Question Type:
Date Added:
Last Modified:
QID#:

Accepted answers:

Free Text

Tue 3rd Aug 2021
N/A

28,605,052

Question 35

What is 3.9 less than 4.08?

Accepted answers:

Free Text

Tue 3rd Aug 2021
N/A

28,605,053

Question 36

ClassMarker - Manage Test

Patar bought 2.9 kg of chicken. How much did he_p&ﬁ

Primary 5 Maths » Primary 5 Maths (Term 1)

Primary 5 Maths » Primary 5 Maths (Term 1)

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit

1 pt

2 pts

21/34


https://0cm.classmarker.com/6226088_PVSSBSFL.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1791869&question_id=28605052
https://www.classmarker.com/a/tests/qb/manage/?test_id=1791869&question_id=28605052&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1791869
https://www.classmarker.com/a/tests/qb/manage/?test_id=1791869&question_id=28605053
https://www.classmarker.com/a/tests/qb/manage/?test_id=1791869&question_id=28605053&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1791869

9/20/21, 6:21 PM ClassMarker - Manage Test

There are soma banners hanging on a rpe along the comidor of the schoed il
The distance betwoen overy 2 banners s 85 om, :

by  Given the distance bebween the first banner and the last bannes is
4580 cm, how many banmers ane there aBogether?

Accepted answers:
¥’ 15m 30cm
v’ 15m30cm

¥ 15 m 30 cm

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A

QID#: 28,605,054

Correctly answered feedback

18x85=1530cm
1530cm = 15m 30cm

Incorrectly answered feedback

18x85=1530cm
1530cm = 15m 30cm

Question 37 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

Given the distance between the first banner and the last banner is 4590cm, how many banners are
there altogether?

Accepted answers:

v 55

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A

QID#: 28,605,056

[]
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4950/85=54
54+1=55

4950/85=54
54+1=55

Question

v 30

Question Type:
Date Added:
Last Modified:
QID#:

38

Accepted answers:

Free Text

Correctly answered feedback

Incorrectly answered feedback

Tue 3rd Aug 2021

N/A
28,605,055

Correctly answered feedback

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 1)

trene has some pies. If she gives each of her friends 5 pies, there will be no ples
left, If she gives each of her friends 3 pies, she will have 12 pies lefl. How many
pies does lrene haved ' k-

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit

Multiple | 5 10 15 240 |25 a0

of 5

Multiple |3 & ) iz 15 in

of 3 —

+12 15 |18 21 24 27 30

Incorrectly answered feedback

Multiple | 5 10 15 240 FG a0

of 5

Multiple |2 & ) 12 15 if

of 3 —

+12 15 | 18 21 24 27 30
QueStiOI‘I 39 Primary 5 Maths » Primary 5 Maths (Term 1)

2 pts

2 pts
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The figure below is made up of T identical rectangles. Find the anea of the figure.

e Mem T &,

Accepted answers:
v 1715
v 171.5cm2

v 171.5cm2

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,057

Correctly answered feedback
Z1+3 =7
7+2=3.5
21+ 3.5=24.5
245 x7=171.5

Incorrectly answered feedback
21+3=7
T+2=3.5
21+ 3.5=245
245 x7=1715

Question 40 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
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Look at the square grid below.
M
1 step
e @&
P
totop | ,
&
® @
E h i
(8]
)
a) [PoinlYis . of Point A
i
Accepted answers:
v’ south-east
Question Type: Free Text
Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,058
Question 41 Primary 5 Maths » Primary 5 Maths (Term 1)
Patsy wants to move from Point ¥ to Point A She deeds to move 2 steps
L]
tothe () and 3 steps to the (i) _
Accepted answers:
¥’ west,north
v’ West, North
v' West , North
v’ West North
v’ west ,north

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit

2 pts
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A) A
B) P
c) B
D) Y
v E) Q

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 43

4km 20m = m

Accepted answers:
v’ 4020
v’ 4020m

v’ 4020 m

Question 42

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,062

Instructions:

Take 1 step to the west
Then 4 steps 1o the north
Then 3 sleps 1o the east

What was her starting point?

Muiltiple Choice
No

Tue 3rd Aug 2021
N/A

28,605,028

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,059

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 1)

Patay was al a certain point and warnted lo reach Paoint ¥. She followed
the instructione and arrived at Point '

Primary 5 Maths » Primary 5 Maths (Term 1)

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit

2 pts

1 pt
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Question 44 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

Tabby botght & ol of riblon measuring 475 om long to tie sorme pressnts. e
used 52 of ribhon 1o fie each present. Whal wes the greatest number of

prosents Taoby could te with the rofl of ribbon?

Accepted answers:

v 9

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,060

Correctly answered feedback
- W T P

475 + 52 =9 Remaining 7

Incorrectly answered feedback
T W, T F

475 + 52 =9 Remaining 7

Question 45 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

Melvin bought a new car for $136 900 when rounded to the nearest hundred dollars. What is the
greatest amount of money Melvin could have paid for the car?
Accepted answers:

v’ $136,949

v $136 949

v’ 136949

Question Type: Free Text

Date Added: Tue 3rd Aug 2021

Last Modified: N/A

QID#: 28,605,061

Question 46 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
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ClassMarker - Manage Test

3
How many unshaded stars must be removed so that < of the total number of

9/20/21, 6:21 PM

stars are shaded?

* K Yok
Adh B U RAGAS
W W W WKWK

_—

Accepted answers:

Vo4

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,063

Correctly answered feedback

3

Eunit represent b

1 umnit represent 14

Total number of stars now =18
186-14=4

Incorrectly answered feedback

3

Eunit represent b

1 unit represent 14

Total number of stars now = 18
18-14=4

Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

Question 47

Maya made 8 pizzas. She distributed the pizzas to 6 friends equally. How many pizzas did each friend
receive? Give your answer as a mixed number in the simplest form.
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Accepted answers:
v 113
v 113
V1173

v 11/3

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,064

Question 48

, Mame Mumber of stamps
Leanne 220
Susan 1320
Ronakd 599

have beft?

Accepted answers:

v’ 489

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,065

Correctly answered feedback

220x5=1100

220 +4 =55
55 x 2 =110
520 110= 489

1320 -1100=220

Incorrectly answered feedback

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 1)

The: tabla below shows the number of stamps Leanne, Susan and Ronald had.

Ronald gave Leanns and Susan an egual number of stamps each. Then
Susan hadsﬁnwasmnyalammLEarme mﬂmswd‘dﬁm

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit

2 pts
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220x5=1100
1320-1100=220
220 +4 =55

55 x 2 =110

509 110= 489

Question 49 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

Titar miwed 1.4 £ of chocolate syrup with 3.32 1 of milk. He poured the mixture
equally into B botlles. How many Sres of the mixture wese there in each

botile?

Accepted answers:

v 0.59

Question Type: Free Text

Date Added: Tue 3rd Aug 2021

Last Modified: N/A

QID#: 28,605,066
Question 50 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

Chef Chan bought 84 £ of cooking oil. He used % of & on Monday. He then used

another 20 [ of & on Tuesday. How much cooking o did ha use alogether?

Accepted answers:

v 48

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,067

Correctly answered feedback
B4+3=28
28+ 20=48

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit 30/34
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Incorrectly answered feedback
B4+3=128
28+ 20=48

Question 51

Mr Bay prepaned 150 meathalls for 36 pupis.

2

pails.

Accepted answers:

v 48

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,068

Correctly answered feedback

- = o = -

36+b6=6
6x3=18
18=x5=90
6x2=12
90+ 12 =102
150-10Z = 48

Incorrectly answered feedback

36+b6=6
6x3=138
18=x5=90
6x2=12
90+ 12 =102
150 - 10Z = 48

Question 52

https://www.classmarker.com/a/tests/test/?test_id=1791869&trk=edittest_inrow_edit

Primary 5 Maths » Primary 5 Maths (Term 1)

1
lﬂhmmhﬂtﬂmﬁﬁmmmﬂidhnhﬂzmﬂwhmm

The rest of the meatballs were then distibuted equally ameng the remaining

a) Im”mwmmmhmmﬂwmmuﬁmmmﬂmwﬂubwhﬂ

Primary 5 Maths » Primary 5 Maths (Term 1)

2 pts

2 pts
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b) How many meatballs did each of the remaining pupils take?

Accepted answers:

v o4

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,042

Correctly answered feedback
18+6=24

36-24=12

48/12=4

Incorrectly answered feedback
18+6=24

36-24=12

48/12=4

Question 53 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts

The first 15 numbers of a number pattern are given below.

7,4,6,0,7,4,5,0,7,4,5,0,7,4,5, ..
14 159

a) What is the 125" number?

Accepted answers:

v 7

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A
QID#: 28,605,069

Correctly answered feedback
125/4= 31R1

Incorrectly answered feedback
125/4= 31R1

Question 54 Primary 5 Maths » Primary 5 Maths (Term 1) 2 pts
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b) What is the sum of the first 125 numbers?

Accepted answers:

v 503

Question Type: Free Text

Date Added: Tue 3rd Aug 2021
Last Modified: N/A

QID#: 28,605,071

Correctly answered feedback
Tx32=224
4x31=124
5x31=155

155+ 124 +224 =503

Incorrectly answered feedback
Tx32=224
4x31=124
5x31=155

1554+ 124 +224 =502

Question 55 Primary 5 Maths » Primary 5 Maths (Term 1)

Look at the marked angles in the figure below. How many marked angles are
greater than a Aght angle?

Accepted answers:
v" 4 marked angle
Vo4

four
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